James Ruse Agricultural High School
Year 8 Mathematics Exam 2006

Question One: (1 mark cach)

a) What is the cardinal number of the set of the letters of the alphabet?
b) Expand (2x— 5).

¢) Find the value of x giving full reasons; ‘O’ is the centre of the circle:

AV

€) I & square has a perimeter of 80cm, what is its arca?

4x+8

d) Simplify 3

) Do the diagonals of a paratlelogram bisect the angles at the vertices?

2) What is {he probability that a person is born on the weekend?

h) If $2 445 is divided in the ratio 3:2, what is the size of the smallest share?

i) What is the probability of rolling a number greater than 4 with an ordinary die?

13 Calculate the surface arca of a cube with sides of 7.2mm.

(41.84F ++/31.99

¥) Bvaluate ~————————— corect to two decimal places.,
679+

1) Write down one general property of a kite, which isn’t a general property of a trapezium,

) Find the simple interest earned if $750 is invested for 4 years at 3.5% p.a.
n) How many days in G weeks?

o) Find the median for the following set of numbers: 12,3, 11,5,6,10,9, 13 and 7.

Question Two: (15 marks) Start a new page!

a) Stephanic earns $18.40 per hour for a 38 hour working week. Any overtime
is at time-and-a-half, Calculate her wage if she works a 43 hour week.

b) A number is increased by 15% and the result is then decreased by 40%. I the
final result is 862.5, find the original number,

¢) Factorise fully x* — 16y
2x
dy Solve 15~ —-é—S - 12,

¢) Find the compound interest on $4 500 at 6%p.a. compounded
monthly for 12 years.

0 The diagonals of a rhombus are 13cm and 6em in length. Find the perimeter
and area of this thombus. (Answer to one decimal place where necessary).

2) From the word “calculator” a letter is chosen at random; find the probability
that it is a vowel.

Marks




Question Fhree: {15 marks) Start a new page! Question Fonr: (15 marks) Start a new page!

a) Solve 12 -2x=6x— B

a) Using the table of values below write down a formula linking m and #; 1
(express your answer in the form “n= “}: b)Make x the subjectof y= (¥l
m|l 12 |34
n|-1]1 [3]5 ©) A darts team manager was deciding which of two players should be selected
for a championship event, He had the scores of the two players from their
previous ten games:
b) A person’s gross income is $125 400p.a. His tax free threshold is $6 000. 2
If their tax is paid at a rate of 32 cents in the dollar, determine their net income? Player A : 180 32 100 36 55 180 96 48 61103

Player B: 121 86 71 102 68 96 73 105 113 56
* ¢) When aball is thrown vertically upwards, its height,  metres, above the

ground after ¢ seconds is given by: = 40f— 101", i) Find the mean aad range for both sets of scores.

i) How high will the ball be above the ground after 2.5 seconds? 1 ii) Decide which of the two players the manager should select,
using your answers to part i} to justify your answer.
ii) When will the ball be 30m above the ground? 2
iii) How long will the ball be in the air? 2
iv) What is the highest point reached by the ball? 1 d) A cylindrical rain water tank has a diameter of 3 metres and a height of
4 metres, The water from the rain water tank runs into a holding tank
underneath the ground, The holding tank is in the shape of a rectangular prism
d) Make x the subject of y= i - 3 of length 5 mefres, breadth 4 metres and depth 6 metres.
X
i) ¥ the rain water tank is full and all of the water mins into the holding
¢} If O is the centre of the circle, find the value of x giving full reasons: 3 tank, what percentage of the volume of the holding tank will be filled?
Diagram ab{ drawn to scale, Answer to 4 significant figures,

it) If the rain water tank empties uniformly in 2¥4 hours calculate this
rate in mlfs. (Answer correct to fwo decimal places).

) OF 120 pupils in Year 8, 36 take Visual Axts, 56 Japanese and 64 Commerce. 20
students take both Commerce and Visual Arts and 12 take all three, 12 study
Visual Asts only and 24 Japanese only.

i) Draw a Venn Diagram to illustrate the above information.

ii) Find the probability that a student chosen at random studics
Commerce and Japanese.

END OF PAPER !
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